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Instructions : (1) Figures to the right side indicate marks.

(2) Show necessary calculations in support of your answer.
Section - I
1.  Following are the Balance Sheets of Akbar Ltd. for the year 2012 and 2013 : 11
Liabiliti 2012 2013 Asset 2012 2013
iabilities ssets
4 4 4 4
Equity Share capital Goodwill 80,000| 60,000
(X 10 each) 3,60,000| 5,50,000 |Plant — Machinery 3,50,000| 4,80,000
General Reserve 1,50,000 80,000|Land — Building 2,00,000| 1,80,000
Profit & Loss Alc. 1,20,000| 1,00,000 |Investments 80,000 70,000
10% Debentures 1,00,000| 1,50,000 |Stock 50,000, 80,000
Creditors 70,000 50,000| Debtors 70,000 90,000
Bills Payable 60,000{  75,000|Bills Receivable 20,000{ 10,000
Provision for taxes 50,000 75,000|Cash & Bank Balance | 70,000| 1,28,000
Unpaid expenses 10,000 20,000| Debentures Discount - 2,000
9,20,000/11,00,000 9,20,000/11,00,000
Additional Information :
(1) Bonus shares of one share for every three equity shares were issued by
capitalizing general reserve during the year.
(2) New debentures were issued at 8% discount during the year.
(3) Plant — Machinery having book value of ¥ 70,000 was sold at 20% loss during the
year.
(4) Depreciation written off during the year on Plant — Machinery I 30,000.
(5) During the year tax was paid ¥ 35,000.
From above mentioned particulars, prepare : Cash Flow Statement as per Accounting
Standard No. 3.
OR
(a) Discuss the limitations of Financial Statements. 11
(b) What is Fund Flow Statement ? Discuss its utility.
AE-123 5 P.T.O.



2. The following are the summarized Profit & Loss A/c. of Aanand Limited for the year

ending 31% March 2014 and the Balance Sheet as on that date :

Profit & Loss A/c.
Particular 4 Particular 4

To Opening Stock 1,68,000 | By Sales
To Purchases 7,20,000 Cash 64,000
To Wages 24,000 Credit 11,36,000 | 12,00,000
To Gross Profit 4,80,000 | By Closing Stock 1,92,000

13,92,000 13,92,000
To Administrative Expenses| 1,80,000 | By Gross profit 4,80,000
To Selling Expenses 72,000 | By Interest 8,000
To Interest on Debentures 24,000 | By Other Income 4,000
To Net Profit 2,16,000

4,92,000 4,92,000
Balance Sheet
Liabilities 3 Assets 3

Equity share capital 1,50,000 | Land — Building 3,50,000
12% Preference Share Capital 90,000 | Machinery 2,50,000
Reserves 2,80,000 | Stock 1,92,000
Debentures 1,60,000 | Debtors 90,000
Long term loan 1,60,000 | Bills Receivable 23,600
Creditors 1,20,000 | Cash & Bank Balance 94,400
Bills Payable 32,000 | Preliminary Expenses 40,000
Bank Overdraft 48,000

10,40,000 10,40,000

From the above particulars, compute the following accounting ratios. (The necessary

calculations should be based on taking 360 days in a year)
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Gross Profit Ratio
Net Profit Ratio
Stock Turnover Ratio
Operating Ratio
Current Ratio
Debtors Ratio

OR

12



Write short notes on : (any two) 12
(1) Classification of Accounting Ratios.
(2) Explain earnings per share as per AS-20.
(3) Importance and utility of Accounting Ratios.
3. The Balance Sheets of Payal Ltd. and Pagal Ltd. as on 31% March, 2014 are as follows :
Balance Sheets
Payal Pagal Payal Pagal
Liabilities Ltd. Ltd. Assets Ltd. Ltd.
4 4 4 4
Equity Share Capital Land — Building 2,50,000| 5,55,000
(fully paid equity Plant-Machinery 4,50,000] —
shares of T 100 each) | 10.00,000] 8,00,000| ppyestments 70,000{ 50,000
Securities Premium 50,000 60,000 | Furniture 30,000 80,000
General Reserve 1,10,000 30,000| Stock 3,10,000| 3,50,000
Profit & Loss A/c. 30,000{  20,000|Debtors 1,50,000| 2,00,000
10% Debentures - 3,60,000 | Bank 1,80,000| 1,60,000
Creditors 2,50,000( 1,50,000|Underwriting
Commission - 25,000
14,40,00014,20,000 14,40,00014,20,000
Payal Ltd. acquired the business of Pagal Ltd. On the above date The conditions of
absorption were as follows :
(1) Payal Ltd. took over all assets and liabilities of Pagal Ltd. except investments.
(2) Assets were valued as follows :
Land — Building ¥ 7,50,000, Furniture I 1,00,000, Stock was taken over at 20%
reduced value and Debtors were taken over at 10% discount.
(3) 12% Debentures were issued at 10% discount to pay 10% debenture holders at a
premium of 10%.
(4) Payal Ltd. will give four equity shares (of ¥ 100 each) at market price of I 110
against five equity shares of Pagal Ltd.
(5) 20 in cash will be paid to each equity share of Pagal Ltd.
(6) Investments were sold for ¥ 40,000.
(7) Liquidation expenses of I 10,000 of Pagal Ltd. were paid by Payal Ltd.
Prepare Realisation Account and Equity Shareholder’s Account in the books of Pagal
Ltd. and prepare Balance Sheet of Pagal Ltd. after absorption was over. 12
OR
(a) Give difference between Amalgamation of merger method and purchase method.
(b) Explain Amalgamation in the nature of Merger. Give five conditions to be
satisfied in amalgamation so that it is said to be merger as per Accounting
Standard 14 (AS-14).
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Section — I1

4.  Discuss the duties of an auditor : (any two) 12
(1) Issue of Bonus Shares
(2) Redemption of Redeemable Preference Share Capital.
(3) Share Transfer Audit
(4) Issue of shares at a Discount

5. Answer any two : 13
(1) Distinguish between Audit Report and Audit Certificate.
(2) Prepare Audit Programme of a Hospital run by a charitable trust.
(3) “Inno case, dividend can be declared from the capital profit”. Critically evaluate.
(4) How will investigate on behalf of a bank who intends to lend money to the business ?

6.  Select correct answer : 10
(1) Unpaid dividend should be transferred to a special unpaid Dividend A/c. after

2

3)

4

(&)
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days of declaration of dividend.
(a) Thirty (b) Forty two
(c) Thirty seven (d) Sixty

Which of the following statements is not correct in regard to “Investigation when
fraudulent manipulation of accounts is suspected ?

(a) The profit can be deflated by recording fictitious purchases.

(b) The profit can be inflated by treating capital expenses as revenue expense.
(c)  Generally such frauds are committed by the owners or directors of the business.
(d)  The profit can be inflated by over-valuation of stock by entering fictitious sales.

After the end of financial year, within how much time, Final Accounts of a
company should be presented in Annual General Meeting ?

(a) Three months

(b)  Six months

(c) At any time before the end of next financial year

(d) None of above

If the auditor has given a qualified report the following consequences may results

(a) The Board of Directors have to resign.

(b) The Central Government may impose a fine on directors.

(c) The Board of Directors have to give reply to such qualifications in its
Board’s Report.

(d) The recognized stock exchange on which company’s shares are listed would
revoke listing.

Which one of the following details is not required to be obtained before preparing
an audit programme ?

(a) System of Internal Check

(b) Report of previous auditor

(c) Accounting system adopted by the competitors

(d) Technical details of business or institution.



